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QUESTION 1

Refer to the exhibit,

Specification Value
Number of users (maiboxes) in Excharge environment 16,000
Mumber of messages sent or received per user per day 150 (0.15 |OPS)

4000 in a swilchuver counliguraliun

(2,000 active / 2,000 passive)

3:2 (60/40 percent) in a mailbox
resiliency configuration

Number of mailboxes per server

Database readfwrite ratio

You are proposing a storage solution using VNX to support a Microsoft Exchange 2010 virtual implementation on
Microsoft Hyper-V. You have worked with the customer to understand the Exchange requirements, which are described
in the exhibit. Based on availability, performance, and Exchange mailbox size requirements, you are recommending
RAID 5 with 7.2K rpm NL/SAS disks.

Following EMC best practices, what is the minimum number of spindles required for this environment?

A. 14

B. 18

C. 27

D. 37

Correct Answer: C

QUESTION 2

The customer wants to display storage-system statistics in Unisphere.
What is the default polling interval (Minutes) for Statistics Logging?
A.5

B. 10

C.15

D. 20

Correct Answer: A

QUESTION 3
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A customer implemented full SAN Copy with default settings in order to copy 60 DMX array volumes to a VNX storage
system. After several hours, they determine that the process is taking much longer than expected. Which storage
system configuration change will improve performance?

A. Disable the CMI channel on the destination storage system

B. Disable write cache for the Reserved LUN Pool on the source storage system

C. Add faster LUNSs to the Reserved LUN Pool

D. Increase the throttle value

Correct Answer: B

QUESTION 4

Your customer would like to replicate their Oracle database between their two data centers. The data centers are
located approximately 1500 km apart. Which array-based solution is best suited to replicate their database?

A. MirrorView/A
B. MirrorView/S
C. SnapView
D. DataGuard

Correct Answer: A

QUESTION 5

Your customer has LUNs with a total size of 25,000 GiB. The total I/0 load is 10,000 IOPS, with a 4:1 R/W ratio.
Analysis of your customer\\'s data indicates that data skew is 95%. RAID 5 is used exclusively in the environment.

How many 200 GB Flash drives would be needed to handle the load of the working data set?
A.5

B. 10

C.15

D. 20

Correct Answer: B
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